Calculus II

Quiz 2

Name: No partial credit.
Write legible.

1. [5 points] Let @, b and & be given non-zero vectors in R3. Use dot and cross products to give
expressions for vectors satisfying the following geometric descriptions:

(a) A vector orthogonal to @ and b.
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(b) A vector of length 2 orthogonal to @ and b.
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(¢) The vector projection of b onto . Z

(d) A vector with the length of b and the direction of .
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(e) A vector orthogonal to @ and bxé
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2. [5 points] Let @, b, & and d be given non-zero vectors in R?. Indicate which of the following
expressions are vectors (V), scalars (S), and which are nonsense (N).
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